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Not like these Babylonians who are not acquainted with Hatoyoh

OVERVIEW
The &7m3 cited a Xn>12 which stated that the 51 permitted nawa 75102 w215, 720
explained that 2°nom refers to w"9, who maintains that a 11507 XY 927 is MMA. IR
asked 127 but it is a 7w P09, to which 7127 responded 21 0522 19570 X5, The
X3 continues with the dialogue between 727 »ax. Our Moo leads us through
this dialogue.

= 17 PNYPA NON 029922 199 19K ODIYN D97 375W DIV 1IN 2WH9r9
The explanation of this answer "1 0>%22 19975 XY' is that it is not a 2"o5, for
everyone is not like the 222, who are not 7>vn2 1X°p2, but rather they are
(mostly)* 702 PROpa -
- 11993 N9P¥2 NIPAY 19991 XYY Ta52) H¥a31Y 1Y YW 79N
Therefore it is permitted for them to be nawa 7502 w2 provided they do not
intent to be %°v2 a complete 79°¥2 (without 7°0) which would be a 7"95 and be T10K.

moon explains the continuation of the X7na:
= 19 PNIPAT 11D YNY NNGIPN DYDY TV INNN NAWA SWHIYD NNY TV )3 DN T>99)

‘And »ax asked 727; if indeed it is so that the people are 7*°vn2a PXP2, why is
there a stress’; the explanation of s""aX question is why the miwn exempted the
101 from reciting @' on naw (not during the weekdays), since they are J8°p2
17703,

Mmoo explains s"*2R question:

! 7077 is a certain manner of performing X2 without extracting the a°»1n2 o7.
2 mpon by saying 'w1 D' is perhaps negating an alternate explanation that since people are 7072 PXp2 there will be
no 07 at all. MmN rejects this (for [there is always the possibility that there will be o7 and mainly] why therefore is
there an opinion that it is MoK since he is 7v» and there will be no 07) and explains that since it is not inevitable that
there must be o7, therefore it is not a 71"0d and is °nn even if there is a possibility that there will be 07 (as long as he
does not intend to be 2°¥a a 773 7°¥2).
3 The phrase N X7 7w p°00 is asking rhetorically; can you chop of its head and it will not die?! w1 admits that
in a case where the 70871 will inevitably be done, there is no exemption of 11501 WR. However if one is 17°°072 °pa
he can be Y¥12 without being 07 X*¥, so it is not inevitable that he will transgress the 79891 of 77112n, therefore since
he is @7 R°XI7% 1507 PR it is 797035 9NA to be nawa 7702 Yoya.
4 See later in the X713 that 777 PR°p2 210.
5> The question > 770 2" certainly requires clarification; why should the fact that they are 7072 PX°P2 diminish
the 770 of X" [during the weekdays when there is no need for 7vi1]. Therefore maoin offers his w170,
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- 1995 NP2 HIYAY PIINNY 29Y XISV NN YINa NaYwa
Regarding the (exemption from reciting w"p on the) weekdays it is understood

that there is stress, since he intends to be %°v2 a complete 782 (without 707) -
- 61999933 NP2 MIPAY XTIV VI PNIPAY NI

And even for the experts (in 7™077) there is X79% to be »¥2 a 773 79°¥2 (and
therefore he is w"pn 75 since he is Mxn2 7).

mooIN goes on to prove that there is a X770 (even for a °p2) to be 77 7°¥2 2°¥2 -
= 9389 HY 9919121 NV 190 NI 1297 (owr x,10 91 AT %Y P99 INTH

As the 71wn states in the second 99 of n1>92 noon; that 2''9 was =we from v'"p,

but was stringent on himself and read v"p even though he was a 1nm -
- Y533 70 NYW P10 2PAT ) Y N

Even though he was a "p2 since he was not a "»22, nevertheless he read v"p [only] as a
X111 but not that he was legally obligated; proving that even for 1X°2 there is a X770; otherwise
if there is no X770 for a °pP2 then he should be obligated w"pa legally (without any & m7). This
explains why on the weekdays the 1nr is w"pn Mwd for he is T since he is 73 77°v2 w2 -

= 7P 190 N9 NI DIYaY PMI15NN 1INV Nava YaN

However on naw where the jnr has no intent to be 7713 722 992, what X770
is there to exempt him from reciting w"p -

- YNY NN NYYA ¥ INRY 295 5119 573 1INWY 5IUN)
And the X answered ‘there is a X770 to the one who is not a p2’°; the
explanation of this answer is that even the °p21 is not a >p2 at the time when one
is obligated in w'"'p -

10999 DIV 79550 PRIPA 1PN XYY DI NUYN DD DUNN NYYA PNIPAN 1999NT
For even the 1X°p2 during the time of 79°v2, however before the act (when it is
the time to recite ¥"p) they are concerned that they will not be 1°%°p2; therefore
everyone is 717U at the time of w"p.

¢ One may have assumed that someone who is not 7»vn2 *p2 and therefore not that well acquainted with the
intricacies of 1% will be 770 before his (first %2); however someone who is *p2 (even) 71”2 should certainly not
have any difficulty with a ‘regular’ 7%°2. NN rejects this notion and maintains that everyone is 770 by a 792°v2
77123,
7 We are now assuming that there is less X770 to be 772 2°ya (since it is not a 73 77°v2), than to be 2°va a 72°v2
7. According to »ax that the 77v is because he is forbidden to be ?°v2 on naw, it is understood why he is >
w"pn; however according to 7121 that he is permitted to be 2°va, then in any case it is not understood; if he is not a
*?3, he is forbidden to be 2°¥2 since it is a 1"05 and should be required to recite w"p, and if he is a *p3, and is being
™2 Y33 (which is [presumably] easier than a 7773 72°¥2 [see beginning of this footnote]), there is no 7, so he
should be ¥"p2 27n.
8 With the word 'w11'0' here, '01n is rejecting the more obvious explanation of the s'kI13 answer P2 1°XWw?, namely
that there is a X77°0 (only) for the *p2 1°X. See ‘Thinking it over’.
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SUMMARY

There is no 7"0d since VN2 7"X°P2; however they are still w"pn 7W5 (on NAW) since
they are not confident in their mX°pa. There can be more X770 by a 7713 77°¥2 than
by mor.

THINKING IT OVER

Mmoo explains the s'XIM3 answer P2 1XYW, to include everyone (even the *p2).°
Why did not '01n explain the X3 simply that the °p2 11K is 7170 (but not the
p2)2110

? See footnote # 8.
10 See p"now and R"wAmn.
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